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1 y Ty 10g O has solutions

yet est and yet eat

Let yet esttet Then

y y't Oy 25est Yet 35est Meat

10estt Oe't O Thus

yet est test is a solution

2 y Ct t

Then y t Yy Lt 41
2
412 0 so

y is a solution

yells is not necessarily a solution



because the differential equation is

nonlinear

y CH YyzCt 442 464 84

O so yz is not a solution

3 a n 7aln 1 12am 2 O

has solutions a n 4 and aclu 3

Let acn 4 3

Then aln 7aCn 1 712am 2

4 3 7.4 7.3 12.4

12.3 2 4 2116 28 12

3 219 21 12 0



Thus aln 4 3 is a solution

4 Aln aln D n 20

a In 22 22 so a is a

solution

acn 32 32
1

so az is a

solution

Ayla is not necessarily a solution

because the recurrence relation is

nonlinear

Az n 22 32



ash 17 122 32 2 212 3

3 I azen so

ask is not a solution

5 Patti C 3 94 is the general

solution because 3 and 4 are

the only solutions of the

equation r 7 12 0 and any

linear combination of solutions of
a homogeneous linear recurrence is

a solution



Part iii

acn YaCn 2 3n 8 aco 2 all l

Ahn Yahn 2 O

P 4 0
F I 2

An n C 2 t Cz 2

Try an B

an B 4In 2 B 3n 8

3 an IP 82 3 n 8

2 1 B O

a n C 2 t Cal 2 t n



a o C Cz 2

a 1 20 202 1 1

G Cz I

aCn 2CMIy


